A £ O &

20238 =0ila eI THE | &2l2

g 8 A A

AT -BIEE R ==
HE: ARWRSY
Rl MHE 22 EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
MHED| =2 1,161,273,606 995,069, 145 166,204,461
= 613,761
Al 1, 160,659,845
olarere 2 110,301,259 19,910,936 90,390,323
FaFSDY PSjnges 76,399,786 1,246,437 75,153,349
OlAtHE 2 76,399,786 1,246,437 75,153,349
olatEd & 29 298,663 323,887 N25,224
201 er23 | 92,405 92,468 263
01 At2t2ltl 80,855 80,855 0
Oget=24I(0latA, SIIHEHE Rl S)
80,855,000& 80,855
02 S3=gHl 11,550 11,613 263
OSSEHUMEEXNZAAY RAE+
11,550,000& 11,550
202 04| 3,206 3,206
01 =LHOLI 3,206 3,206
O Al -z 7 &5 dR=d
3,206,000 3,206
203 HR=AH] 17,200 17,200
03 A= PR FAI| 17,200 17,200
OoNZ&E =8 4,200,000& 4,200
OXZMHE & MEAHZE 2cl
3,000,000& 3,000
OMEAHE S} =& 10,000,000 10,000
207 ARl 13,267 13,267
02 MAHHZHI 13,267 13,267
%E"‘Oﬂ FEEXZAAE AL e 2
AH 2 13,267,000& 13,267
308 AHAIEMSOIE 86,736 43,518 43,218
11 S| 2SS HASAIE 86,736 43,518 43,218
OXAIL KILTHE2ARIAAE S22 Y
=3 K& 86,736,000 86,736
403 THXISHMSAH=01H 85,849 167,495 A\81,646
02 SI12S0ItH et =& 2 Ef A | 85,849 167,495 A\B1,646
OXHMITH NISTHE 2EIANAE 25
85,849,000 85,849
g usHE 248 30,800 30,800 0
201 Let=Ehl 800 800
01 AtR2t2|HI 800 800
Olildtd s SAIRIES =g
800,000 800
303 Zal= 30,000 30,000
01 2= 30,000 30,000




A= ROl
Hu: ARHHRY

A g2

Rl MHE 22 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
Oollatd =z XNS(SRY, LBHAIR)
30,000,000 30,000
FUFOMAH =29 113,000 842,680 AT729,680
201 er=23y| 108,000 149,680 A41,680
01 AtR2t2l] 88,000 129,680 A41,680
OXgd &2t & LEt==ZH|
22,000,000 22,000
OFCIEHNU A& A&k A5t 13,000
SHOMAMRE AL WS
1,000,000 1,000
SO AMHIZ AT AIBIZAIS S22 e WS
500,000 500
oAzZ7 MY et W= 1,500,000 1,500
o2ctol Zol ME 10,000,000 10,000
O=2IFuue| =29 53,000
o3| 39 A 36,000,000 36,000
oXEE3 39 FAH
12,000,000 12,000
SOIAHIZMI] AIBIZEAIE 312 EFAE
5,000,000& 5,000
03 A2 I 20,000 20,000 0
O=QFENU A etite B3
20,000,000 20,000
203 HR=&H] 2,000 2,000
03 A=A 2= 2,000 2,000
O=aFu & 24 2,000,000 2,000
301 EtE NS 3,000 2,000 1,000
11 BARHIXES 2,000 2,000 0
OZ3 A &bl X 2,000,000 2,000
14 JIE2 43 1,000 0 1,000
OFCUHMMA ML S 2ot
1,000,000 1,000
MEAE 8ot 29 8,300 8,300 0
201 ZBt2 ] 8,300 8,300
01 At22t2l] 8,300 8,300
OMEAISEIIE 23 8ote=E
4,800,000 4,800
OE1A Reldl S 3,500,000 3,500
E9d2?s 29 7,200 6,720 480
201 fer23y| 7,200 6,720 480
01 AtR2t2l] 7,200 6.720 480
OZ982R3s 23 7,200,000& 7,200
Aatdgdliz N 75,907,773 75,907,773
801 oIl 75,907,773 75,907,773




A ME)=2 A NMEER
M AMNE2Y
&2 At E 29 (CH9: &S1)
NT R ZH - BA(SH) - MSAY - BYS of et e HDS2
0B UERE=3 75,907,773 0 75,907,773
OXgatded™I|I=2 75,907,773,000& 75,907,773
NSMHEAHMRARE 2 4,050 4,050
201 L= 4,050 4,050
01 AtR2telt] 4,050 4,050
OXNSMHBAH=MRIAE] &2 & HAxH
4,050,000& 4,050
ANLEXZ 2|2 2 30,000 30,000
201 L2 10,000 10,000
01 AtR2telbl 10,000 10,000
OXg2xs2e|?ARs oo & 4 =&
5,400,000 5,400
Ozgd &2t S Lt=24|
4,600,000& 4,600
301 LEIEES 20,000 20,000
14 J|Et2 43 20,000 20,000
OXgExs R85 A1 XA3
20,000,000& 20,000
ol 33,459,549 18,232,575 15,226,974
[l IQVIESS=g=) 33,459,549 18,232,575 15,226,974
ol 33,459,549 18,232,575 15,226,974
801 OiHIHI 33,459,549 18,232,575 15,226,974
01 Etoiiblbl 33,459,549 18,232,575 15,226,974
Oodl 33,459,549,000& 33,459,549
HHY 2 A ZH 441,924 431,924 10,000
[23HI(0aega) 71,924 71,924 0
FA2EH| 71,924 71,924 0
201 L= 43,286 43,286 0
01 AtR2telt] 43,286 43,286 0
EAE2g=24I 21,782,000& 21,782
OJI2g R+ S| 21,504,000& 21,504
202 04l 17,238 17,238
01 204l 17,238 17,238
OJ|2gR=+& 0l 17,238,000 17,238
203 gR=8| 11,400 11,400
01 J| 228 RF8H 6,600 6,600
OMEI =2 6,600,000 6,600
04 FEXMSEYRFAH 4,800 4,800 0
ORN2SYRFLH| 4,800,000& 4,800
TH2Y J|2Z 370,000 360,000 10,000
X2 3| 370,000 360,000 10,000
201 LEeH23 | 220,000 220,000 0
01 A2t 220,000 220,000 0




= HEIIE2 A NMEE2
Hu: Sy ARy
&t A2 J|1=38| (CHol: &S1)
2 5 IE!
AR R4 - B SAE) - HRAY - BES ol ke e HimES]
oger2gdl(sS834dl) 120,000,000& 120,000
Ol Hzel(=8dhl)
100,000, 0002 100,000
202 (4t 40,000 40,000
01 =04 bl 40,000 40,000
Oudl(=&&dl) 40,000,000 40,000
405 XHAHE SHI 110,000 100,000 10,000
01 ML ESHSHI 110,000 100,000 10,000
OXIAEEHSH (S S2ZHI)
110,000,000& 110,000




20238 =0ila eI THE | &2l2

Al A

= HEIIE2 2A 0 HE22
M 2 2 HWEXA
el XK= HE XA (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
MEzelgga 929,320,315 832,879,270 96,441,045
= 7 NI 851,737,883 764,707,790 87,030,093
X7 MHE XA 822,722,556 736,304,413 86,418,143
MEZHNES 83 822,722,556 736,304,413 86,418,143
308 AXIHMSO0I & 822,722,556 736,304,413 86,418,143
08 XX AEEHWEZ 822,722,556 736,304,413 86,418,143
OXX7 ZHWEZ(208EHEZ)
818,784,356,000& 818,784,356
OdIMA =HWNEZ2(2023EEF)
3,938,200,000& 3,938,200
= MEXA 29,015,327 28,403,377 611,950
NMEEHWNRZ 29 29,015,327 28,403,377 611,950
308 AXIHMSOIH 29,015,327 28,403,377 611,950
M4 Al -Z2EREWNREZ 23,575,575 22,764,492 811,083
Oz 2FuEs3(20BEE2)
23,575,575,000& 23,575,575
06 Al - ZIIEHHR ZFH| 5,439,752 5,638,885 A199,133
O XNYXRAANEN B3 (202838==F)
5,439,752,000& 5,439,752
MEAMS &S 100, 362 144,592 A44,230
ANTHE DJ|gt 2= 100,362 144,592 AN44,230
ME2te| X2 23,386 95,386 AT72,000
201 2| 8,250 80,250 A72,000
01 ArR2eltl 8,250 80,250 A72,000
OJ13 doRAs 2% 2,250,000& 2,250
OZHIAIY 2A2AtE S 32Xtz {2l
6,000,000& 6,000
202 Ot 2,136 2,136
01 =WO4 bl 2,136 2,136
O=2d L AME &8 =
2,136,000& 2,136
203 LR =&H| 13,000 13,000
03 A Z=AIHSZXY| 13,000 13,000
OXIZME & LIS &8 =&
10,000,000 10,000
OXgiR2e & XNGHdlz gRFH
3,000,000& 3,000
SSuWRA Eel® 2¢ 67,376 39,606 27,770
308 AHXIHMSO0I& 67,376 39,606 27,770
11 BI 2SI HEHE A X LAE AL 67,376 39,606 27,770
OXNYNRAN EE3 SN =22
67,376,000& 67,376
SXA A2 9,600 9,600 0
201 2Et2 & 9,600 9,600 0




= MEIIE2

Hu: YEATS A
Cl ARE J|E 2= Hel)
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t A 2
01 AFS2t2ltl 9,600 9,600 0
OTMZERAARRS Sl02Y U BALg
7,200,000& 7,200
ORIZIETIAIS AIOSIAS] Blol2Y & &4
=g 2,400,000 2,400
Ng301e 2l 186,550 174,430 12,120
g3 2el 186,550 174,430 12,120
NEBI1e &858 24222 17,950 14,700 3,250
201 ZEt2 & 4,500 4,500 0
01 Ar2teltl 4,500 4,500 0
ORI FYNM L Yx2 S8 3
4,500,000 4,500
203 P2EZH| 3,600 3,600
EESSEEESI 3,600 3,600
ONYEZIIY U ENE ALE
3,600,000& 3,600
308 REXISHMSOIH 9,850 6,600 3,250
11 312 S0eHE &R AL 9,850 6,600 3,250
OXE301 S AAIAE 7X2eld]
9,850,000& 9,850
Ne33I12 Bt 168,600 159,730 8,870
201 ZEH2E ] 84,270 75,400 8,870
01 ArR2eltl 84,270 75,400 8,870
OEREIIT 2HAAAAS BaY
5,000,000& 5,000
OZFaEoict 29 79,270,000& 79,270
202 04l 2,580 2,580
01 =L 2,580 2,580
OB EIIE A 0] 2,580,000& 2,580
207 A2 OHEH| 21,750 21,750
01 22 EAH| 21,750 21,750
OsXt - 0|2 DHOEE 2 HBE A
= 21,750,000& 21,750
306 E¥= 60,000 60,000
01 &3 60,000 60,000
OXNgSI|HEIRY s
60,000,000& 60,000
HY2HZHI 47,142 48,948 21,806
Jl2ddl(HE2elgea) 47,142 48,948 A1,806
FA2EH| 47,142 48,948 21,806
201 23| 35,836 37,304 A 1,468
01 AFS2teltl 30,836 32,304 A1,468
ORA2I+EH| 12,088,000& 12,088
OJ|2g2=8 Sl 8,560,000& 8,560




D HEDIE 2
© N2

SoT oo

D JI23HI(HE 2 ggH)

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET
OxXtsdxt =z 10, 188,000 10,188
02 S=294| 5,000 5,000 0
OxsERA&elH s 5,000,000& 5,000
202 04t 7,106 7,444 A338
01 =2LHM Y| 7,106 7,444 A338
OJ1=2g23 0oyl 7,106,000& 7,106
203 SR F=&IH| 4,200 4,200
M PA2IHRFAY| 4,200 4,200
OFAN2ILRFAI 4,200,000 4,200
HPEs (M2 geH) 77,248,378 67,803,510 9,444,863
SHMX = 77,248,378 67,803,510 9,444,868
IISHES 46,200,000 44,700,000 1,500,000
702 J12EEZ 46,200,000 44,700,000 1,500,000
01 J12&8&E=2 46,200,000 44,700,000 1,500,000
OXgrate |2 d&3
46,200,000,000& 46,200,000
Oll=2 J2IS4Et 31,048,378 23,103,510 7,944,868
705 Oll=2 322 4E 31,048,378 23,103,510 7,944,868
03 Al - SXISGILD |20 = &abst 25,433,610 16,931,805 8,501,805
OXNSHEI 2 tl==32 &
25,433,610,000& 25,433,610
04 Al - EXSIHL I |2 0=2 0| KhatEt 5,614,768 6,171,705 556,937
OXNSHLI|Z Ul==2 Ol Attt
5,614,768,000& 5,614,768




Al

Ol &F A

Al A

20233 & 204k LBHSIH D=2
= HEIIE2 A NSMERGE 2
M OtEE NE2Y
Rl M= SO EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
N PSR i=a=an, 114,589,189 103,006, 366 11,582,823
= 598,761
Al 113,990,428
oY E ME2Z 2,190,797 2,464,999 AZ274,202
= 538,761
Al 1,592,036
M= SO 1,223,328 1,508,245 A284,917
2ol NS A 15,510 15,510 0
202 04d| 3,510 3,510 0
01 2LHO LI 3,510 3,510 0
OXIZAl ARZEAL 0] 3,510,000& 3,510
203 ZR =& 2,000 2,000
3 AR F=RHRF=AH| 2,000 2,000
ONIS XA g2 2,000,000& 2,000
303 Zal= 10,000 10,000
01 Z&3 10,000 10,000
ONaZ= 25 243 10,000,000& 10,000
Nel=g a3t =& 50,897 54,002 A3,105
201 23| 6,492 22,188 A 15,6%
01 ArR222ltl 6,492 8,328 21,836
OAMI2I=g XM 202 S 4,492
oM2l=e DA R 3,192,000& 3,192
odut-ZH|(MRES P S)
1,300,000& 1,300
OXgMA+ SR HES
2,000,000& 2,000
202 Ot 4,050 4,050
01 =LHOBI 4,050 4,050
OHlI+e 22 SR 4,050
oM+ HRHEE S B2 SHMUI
1,800,000& 1,800
oMesg RS ENE &2
2,250,000& 2,250
308 AHXIHMSOIH 40,355 27,764 12,591
11 312 S0eHE &R S A 40,355 27,764 12,591
HEXNLANA-LTEAIAE RA2E] =
=r=1 40,355,000 40,355
NE2g X& Zst 1,156,921 1,438,733 A281,812
201 Ler2 | 65,167 73,685 28,518
01 At 22|l 59,533 68,173 28,640
OXEA ARl 2o &Y S 17,120
oME HEAAN L O|QAIH S
16,200,000& 16,200
o UBt=ZH| 920,000 920




= MEI|E2 M XZME
g OHEE NE2Y
el Hla =0 Chol M)
A2 RA - ZB - O9I(3) - HRAY - By Ol &t e B2
OZiAHIM A8 2 HIE
12,956,890 12,957
OXIZAl AZtS 7,456,0002 7,456
OBEHT S WA L AP
22,000,000 22,000
02 E2324H| 5,634 5,512 122
ONE2Z X2 Xt 2el2Zdl
2,810,000& 2,810
ONEER =& 2HIZ s 28 RER=
2,823,500& 2,824
202 04t 9,954 9,94
01 2LHOLI 9,954 9,94
OXZHE 2d2 A% SEHI 9,94
o XA At HRAZ S SH O
7,164,000 7,164
oXgA SEA R gAY s 280
] 2,790,000& 2,790
203 LR =&H| 3,600 3,600
03 A Z=AIHRZXH| 3,600 3,600
OXIZAA HE L ML= S HRFA
3,600,000& 3,600
303 Za= 900 900
01 Z&3 900 900
OXZA HAPIM DHE A4
900,000 900
306 £ = 517,215 442,159 75,056
01 £¢3 517,215 442,159 75,056
Oe=XgAMARE EH3
517,215,000& 517,215
308 KXIHMSOIH 556,000 17,374 538,626
11 SI 2SOt E & HAS ALZ | 556,000 17,374 538,626
OXHItH RIZMEEAAE SXE2
556,000,000 556,000
403 XX SHHSA=01A 1,545 891,961 280,416
02 I 2S0HEA=2E S AL I 1,545 891,961 A8X0,416
OXHAILE KNEAEEAAE ASAIY
1,545,000& 1,545
405 KHoHE S| 2,540 2,540
01 XL ESH =S| 2,540 2,540
O9dXt 7 2,540,000& 2,540
HSAEE ¥ o 64,678 67,083 22,405
AT A 2H 64,478 57,083 7,39%
201 2Et2 & 64,478 57,083 7,39%
01 AFR2t2ltl 64,478 57,083 7,3%
OXIZAl &2 24,000,000 24,000




A= WEIIEB SN KIS
Hu: obEE M2
el "HAEE & Bl (SH9 H2)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
OXSXHAl B2 10,000,000 10,000
OUtSHM=TA 2 2,763,000& 2,763
OUISHMFA HAIZS 3,500,000 3,500
OMAXLASA AMDHE 29
6,500,000 6,500
OMII4e MBIIC HE 242
17,715,000& 17,715
HAEE druRs Ks 200 200
301 EtE2 NS 200 200
14 0Bt 243 200 200
OLKIZE NLASH Z4D23 X3
200,000& 200
sy NE2d 902,791 889,671 13,120
= 598,761
Al 304,030
&P ARHl I 300,000 300,000
308 AHXIEMSOIH 300,000 300,000
05 XXI2DIEFHH 2 EE | 300,000 300,000
OXZNE 2g 0120 A& (&AIZH])
300,000,000 300,000
NS T=ERDFA AL 8,060 8,060 0
= 4,030
Al 4,030
201 2= 7,660 7,860 A200
= 3,830
Al 3,830
01 At2t2lt] 7,660 7,860 A200
OINEFEDIA A AAR 22l SEH
7,660,000 7,660
= 3,830
Al 3,830
202 O4H| 400 200 200
= 200
Al 200
01 =LHOHI 400 200 200
OJNE =D T AL OHH 400,000 400
= 200
Al 200
T -7 HEFEIHE ORI XA 594,731 581,611 13,120
= 534,731
308 AXIHMSO0IA 54,731 581,611 13,120
= 504,731
01 HAHHBAEES 54,731 581,611 13,120




DONMEDIE 2
CoHEE NEE2Y

M0 0

Hel sy NE2E (SH9 H2)
A= - BA - 3H - SA(SAH) - NIRAY - BES Off &4 %E% BlunsZ
Oz 7 HEFEIA AL X1
594,731,000& 54,731
= 534,731
KXIEEH HE X 112,363,839 100,506,814 11,857,025
X722 Wy 2 112,363,839 100,506,814 11,857,025
N ESEamE =N I=1 100,051,137 83,220,071 11,831,066
308 XXM SOIA 100,051,137 83,220,071 11,831,066
02 d+u2s 100,061,137 88,220,071 11,831,066
OAMl E#=1=23 X2
100,051, 137,000& 100,061,137
HEEHSKA 12,312,702 12,286,743 25,959
308 XtXIEMSO0IH 12,312,702 12,286,743 25,959
05 XXI2DIEF 2 ZE | 12,312,702 12,286,743 25,959
OSSN 242 HEEHS
12,312,702,000& 12,312,702
™ =2E 34,553 34,553 0
J23H(NLME RS 2) 34,553 34,553 0
fA2EH| 34,553 34,553 0
201 2= 18,842 18,842 0
01 AtR2t2lt] 18,842 18,842 0
ORAM2E=24| 6.,842,000& 6,842
OJ|2gf=8 S| 12,000,000 12,000
202 ot 10,911 10,911
01 =LHOHI 10,911 10,911
OJl2gR=8 0| 10,911,000& 10,911
203 BR8] 4,800 4,800
04 FAE2EERFAH 4,800 4,800
ORM2EER=2 4,800,000 4,800




M £

20233 = =0ilah LB HED |22

A= ROl 2

= W N

Al A

o9l M-S0 (ehol:®el)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
ghEagg 1,408,180 1,317,173 91,007
e X 1,341,598 1,250,126 91,472
Ni==SU 1,021,598 930, 126 91,472
KA M Zel 860,576 779,144 81,432
101 21AH| 319,189 224,812 94,377
04 JIZtN22 XS E 319,189 224,812 94,377
OA% M MEHZEAIY 22
319,189,000 319,189
201 er2 3| 512,847 488,400 24,447
01 At2t2lt] 133,034 92,500 40,534
OHFoUZ & MEIXM S M
54,334,000& 54,334
OMgxtg A28 & 2 ME
1,100,000& 1,100
ONMgxtg AQ =35+ 1,200,000 1,200
OMgeh SEde2t 28 S22l
12,000,000 12,000
OMge delgs g4 Ml
20,000,000 20,000
ONg &EXZAE 23 7
4,400,000 4,400
OXZAl Hedel ad823 Adtsl
2,000,000& 2,000
OSNsE8HE AZEYN S04
38,000,000 38,000
02 s3=gHl 379,813 395,900 16,087
ONERed HSE SXIAAE A2
7,800,000 7,800
ONME XM= MEHI 16,800,000 16,800
OLEEEAIAY 0182 8,250,000& 8,250
OMI2l=2 B FACIAIAE
13,860,000& 13,860
OXNZHMEEAAE S22 sSHAEE2
2l 23,000,000 23,000
Ogd Zli F2AAE 0182
1,500,000 1,500
O3832= € MAl 293,103,000 293,103
ONMg&el X 2222
15,500,000 15,500
202 04l 19,440 19,440
01 2LHoIH 19,440 19,440
OMe&el =LHobI 19,440,000 19,440
203 HR=4Y] 3,600 3,600
03 A=A PR FA| 3,600 3,600
ONg &=t AIRPRFAY|
3,600,000 3,600




= HEIIE2

e

Ha: WY K

chelr d=Z0 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
303 Za= 5,500 5,500
01 Z&3 5,500 5,500
OMgd-2s AN S22 A4
5,500,000& 5,500
NEg= XI& Z3t 155,272 147,482 7,790
201 L2 | 56,512 57,722 21,210
01 At 22|l 11,552 12,602 21,050
OclA - gE XEHSE =X 48A4s HA
2,500,000& 2,500
OZARAL 2diig 2 ARE 7Y
2,520,000& 2,520
OXsSi S8 gRF8 SEZ20AI
4,032,000 4,032
OclA - gIE XEFHSERI 222 MEI
2,500,000& 2,500
02 2324l 44,960 45,120 A160
OXtsxt S5 dE3d AlEg & AUz
43,680,000 43,680
OXtsxt S8 UHYR =8 Z2& SHzE
] 1,280,000& 1,280
202 (4t 5,760 5,760
01 2LHOLI 5,760 5,760
Ocla - HE ISk 7S
5,760,000& 5,760
203 R F&] 3,000 3,000
03 Al Z=&IHS=XY| 3,000 3,000
OclA - gE XSkt 7Al HRF&
3,000,000& 3,000
303 Zal= 45,000 36,000 9,000
01 Z&3 45,000 36,000 9,000
Ocla - HEXZE KX M=3l I 22
Y3 45,000,000& 45,000
308 KEXIHMSOIH 45,000 45,000
01 AXIEHBAEXS 45,000 45,000
OHEXE SX Il =2 - 7 Hed3
45,000,000 45,000
NE2Z XI& Zst 5,750 3,500 2,250
201 Ler2 | 5,750 3,500 2,250
01 At 2telt] 5,750 3,500 2,250
OXZNYE & ME™Mz2 4REAM 722 - ME
5,750,000& 5,750
AMsH NMESZ 320,000 320,000 0
2Yal A0 Ta=m g 20,000 20,000 0
301 LBENZ 20,000 20,000 0
14 JIEt2 43 20,000 20,000 0




A= WEI | A ENEE
M Y X2
Helr s NMER2E (St &)
AZ 24 - 3H - () - HRAY - BEZ Oif &H2H OE:IE& Hns2
OS24 A AT TAS(2IZt0
20,000,0002 20,000
ANAZESEZAS XIS 300,000 300,000
303 ZAZ 300,000 300,000
01 ZA&3 300,000 300,000
OAIAl BEZAZ 300,000,000 300,000
Y 2HAH 66,582 67,047 N465
Jl=dul(ZN g ee) 66,562 67,047 N5
SN2 66,582 67,047 N465
201 Ler2y) 40,617 40,617 0
01 At 2reltl 40,617 40,617 0
SNG4+ 19,825,0002 19,825
OJ|1zeess Zal 20,792,0002 20,79
202 O4H| 20,925 21,390 N465
01 2404l 20,925 21,390 N4B5
OJ12d2e48 ol 20,925,000 20,925
203 YR 2| 5,040 5,040
M EA2IHRFALI 5,040 5,040
ORN2IYRFAI 5,040,000& 5,040




Of & Ab & & Al
0238 20ilat LBteH Y122
H&E D=2t Ao g EE
SHE 3 AH2el
S5t 3| AHHIA o 2
SA - A S90(30) - HRAY - BAS of v e HIDE2
s 233,561 227,89 5,662
2 2el 196,543 192,861 3,682
et 2 ANHIA 196,543 192,861 3,682
ofo] £84 22 79,943 71,461 8,482
201 fer= 3| 76,343 67,861 8,482
01 At 2|l 35,800 37,384 1,584
OLiet&EH 10,000,000& 10,000
OH ol
21,000,000 21,000
O3 AH (A 2F) o3t 0]
3,800,000& 3,800
OX &8s 1,000,000& 1,000
2 S22l 40,543 30,477 10,066
OASEESMAIAE RE=2
12,606,000& 12,606
O H2H
27,937,000& 27,937
203 2= 3,600 3,600
03 AIEZA 3,600 3,600
O=IAHYR 3,600,000 3,600
N - HE 2 77,200 77,200 0
201 22 g 72,200 72,200
01 A2 72,200 72,200
OZ &t2HA 26,200,000 26,200
Ot 46,000,000& 46,000
203 HR=4Y 3,000 3,000
03 A= 3,000 3,000
OZLHR= 3,000,000& 3,000
307 21201 & 2,000 2,000
12 Q2RI RS =4 2,000 2,000
OZ&B AR
2,000,000& 2,000
SARI[32/ A 24,400 29,200 24,800
201 er23 | 22,000 22,000 0
01 At2teltl 22,000 22,000 0
O=AR)| SEMFHE 2 534
22,000,000& 22,000
301 LEtE S 2,400 7,200 4,800
14 J|Et2 & 2,400 7,200 4,800
OLUESAHAN € DEMRA D22
2,400,000 2,400
INEIRS R N PR 15,000 15,000
303 Za= 15,000 15,000
01 Za= 15,000 15,000




A= MEoE2 A AHEER
3 S8 A2el
ctels S oIAIMEIA (CHo M)
42N Y. GABH) - ARAY - BES ofl & A RS2
OAr=l® I S8XE P24 Ald
15,000,000& 15,000
Y =S 3 37,018 35,038 1,980
JlE2dsl(alHgga) 37,018 36,038 1,980
k==l 37,018 36,038 1,980
201 er=3| 21,778 19,798 1,980
01 AFR2telHl 21,778 19,798 1,980
ORN2g=3HI 12,778,000 12,778
OJlzge-d Sl 9,000,000& 9,000
202 04t 11,040 11,040
01 =LHOHI 11,040 11,040
OJlzges==4 04| 11,040,000& 11,040
203 HF=AY] 4,200 4,200
4 AL 4,200 4,200
OFA2ILRFa| 4,200,000 4,200




H £ 0l & AF & S

20238 =0ila eI THE | &2l2

Al A

A= HEI=2 A SSAESEUGER
33 8H Makzel
Rl SFMa2e EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
SSAIEsdgg2 5,421,102 37,727,501 A32,306,39
= 15,000
Al 5,406,102
SEXO THatae| 1,864,720 1,631,201 233,519
= 15,000
Al 1,849,720
SHMe2e 1,392,040 1,185,370 236,670
SRS S8X 22| 1,392,040 1,155,370 236,670
201 Ler23 | 1,339,190 1,103,020 236,170
01 At2t2ltl 143,000 112,940 30,060
O3FsMety2lel 23 4,200,000 4,200
OS= M S8 2elES
129,800,000 129,800
ORFID Ef o, 2l= Pl
9,000,000 9,000
2 S5=2g4l 1,19, 190 990,080 206,110
OXZHE SH=Hl 1,186,110,000& 1,186,110
OXTHEOAIAE S22 =2
10,080,000 10,080
203 =2l 6,600 6,600
03 A=A R=EH] 6,600 6,600
Obf2t gR= 3,300,000 3,300
OEX =t d2=a 3,300,000 3,300
401 AlEBIL S THYI 27,000 27,000
01 Al£ZHI 27,000 27,000
S|Me 3H SEkel € e £ - =2
- 27,000,000 27,000
405 AtatE = 19,250 18,750 500
01 Tt =S F=H 19,250 18,750 500
OXTE D JUHE 2IHI| Fd|
19,250,000 19,250
SExtg2el 472,680 475,831 23,151
= 15,000
Al 457,680
SEXE |A2e 265,392 250,591 14,801
201 er23 | 264,392 211,071 53,321
01 At2teltl 49,392 31,071 18,321
Ogxtitg =8l 49,392,000 49,392
02 S3=gl 215,000 180,000 35,000
Oxgesgz 35,000,000 35,000
Oxtg = X2l 180,000,000 180,000
202 Ot 1,000 1,000
01 =LH0i 1,000 1,000




H&E D=2t FA O BBAEHA
SHe! Ijarzte
S EERE)
SA - A S90(30) - HRAY - BAS of v e HIDE2
O2dMA 28 XN 04|
1,000,000 1,000
IS 04 207,288 225,240 A17,952
= 15,000
Al 192,288
405 AtatE=H 207,288 225,240 A17,952
= 15,000
Al 192,288
01 TR =S H 207,288 225,240 A17,952
O38xtg =2
207,288,000 207,288
= 15,000
Al 192,288
Y =S 3 50,798 46,300 4,498
JI2ZHI(S3AILE 50,798 46,300 4,498
fA2EH| 50,798 46,300 4,498
201 223 29,400 26,880 2,520
01 At22t2ltl 29,400 26,880 2,520
ORAM2g=s 14,140,000& 14,140
oJl=2ge=s 15,260,000 15,260
202 04dl 16,313 14,000 1,313
01 =LHNHI 15,313 14,000 1,313
O=LHNHI 15,313,000 15,313
203 =4l 5,100 4,920 180
04 2EAEEY 5,100 4,920 180
ORM2gY 5,100,000& 5,100
405 AHAHE S 985 500 485
01 TR =S 985 500 485
OgdiHld + 985,000 985
LES (M2 gY 3,505,584 36,050,000 A32,544,416
LIS HHXIE 3,505,584 36,050,000 N\32,544,416
CAl & FHSF 8 Jls dES 3,505,584 0 3,506,584
RISdES 3,506,584 0 3,506,584
(UIPIETSE—S 3,505,584 0 3,505,584
CA & =838l JIs &=
3,505,584,000& 3,505,584




